

This set of rates includes a Multiproduct Discount of 2%

Medical Rate Summary Exclusively for Summerfield Schools

Medical Rate Summary Exclusively for Summerfield Schools
Rates Effective 01/01/2022 through 12/31/2022

	Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	
1	Essentials by MESSA	\$375/\$750	\$10/\$25/\$50	\$50/\$200	20%	EbM	\$581.03	\$1,307.31	\$1,626.87	EA
2	ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$610.46	\$1,373.54	\$1,709.30	9Q
3	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$618.26	\$1,391.07	\$1,731.11	CI
4	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier	\$625.66	\$1,407.71	\$1,751.82	DO
5	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$631.25	\$1,420.31	\$1,767.50	CE
6	ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$637.21	\$1,433.72	\$1,784.19	7T
7	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$638.81	\$1,437.32	\$1,788.67	DK
8	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$654.84	\$1,473.39	\$1,833.55	9L
9	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$655.23	\$1,474.28	\$1,834.65	BW
10	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier	\$663.08	\$1,491.92	\$1,856.62	DC
11	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$668.62	\$1,504.40	\$1,872.14	9K
12	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$672.67	\$1,513.49	\$1,883.47	BS
13	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$675.93	\$1,520.85	\$1,892.61	CA
14	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$680.70	\$1,531.59	\$1,905.97	CY
15	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$684.03	\$1,539.06	\$1,915.27	DG
16	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Mail	\$684.75	\$1,540.69	\$1,917.30	AO
17	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$693.85	\$1,561.17	\$1,942.80	9D
18	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Mail	\$702.97	\$1,581.68	\$1,968.31	AK
19	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$712.20	\$1,602.47	\$1,994.17	9C
20	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$715.94	\$1,610.87	\$2,004.64	7R
21	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$723.03	\$1,626.82	\$2,024.49	во
22	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$731.69	\$1,646.29	\$2,048.72	CU
23	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Mail	\$755.60	\$1,700.10	\$2,115.70	AG
24	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$765.00	\$1,721.26	\$2,142.01	7P
										1
25	Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$676.84	\$1,522.89	\$1,895.15	8V
26	Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$688.95	\$1,550.16	\$1,929.08	8U
27	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$689.42	\$1,551.18	\$1,930.36	ВА
28	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$699.35	\$1,573.52	\$1,958.16	8R
29	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$702.79	\$1,581.28	\$1,967.82	ВМ
30	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$709.31	\$1,595.96	\$1,986.08	AY
31	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$715.79	\$1,610.53	\$2,004.21	8Q
32	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$722.70	\$1,626.08	\$2,023.57	ВК
33	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	SRX Mail	\$725.67	\$1,632.76	\$2,031.89	AC
34	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$727.49	\$1,636.85	\$2,036.97	AU
35	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$736.55	\$1,657.24	\$2,062.34	8N
36	Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$738.28	\$1,661.14	\$2,067.19	8E
37	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$740.88	\$1,666.97	\$2,074.46	BG
38	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$745.57	\$1,677.53	\$2,087.59	AA
39	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$752.59	\$1,693.33	\$2,107.25	AS
40	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$756.46	\$1,702.03	\$2,118.08	8M
41	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	SRX Mail	\$763.74	\$1,718.43	\$2,138.49	9W

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.



This set of rates includes a Multiproduct Discount of 2%

Medical Rate Summary Exclusively for Summerfield Schools Rates Effective 01/01/2022 through 12/31/2022

	Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	
42	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$765.98	\$1,723.46	\$2,144.75	BE
43	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$769.04	\$1,730.33	\$2,153.31	AW
44	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$769.44	\$1,731.24	\$2,154.43	8D
45	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$774.63	\$1,742.93	\$2,168.98	8J
46	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$782.43	\$1,760.46	\$2,190.79	ВІ
47	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$788.85	\$1,774.90	\$2,208.76	9U
48	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$799.74	\$1,799.40	\$2,239.26	81
49	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$805.29	\$1,811.91	\$2,254.82	9Y
50	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$816.19	\$1,836.41	\$2,285.31	8C
51	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$818.37	\$1,841.34	\$2,291.45	AQ
52	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$831.77	\$1,871.47	\$2,328.93	вс
53	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$854.64	\$1,922.93	\$2,392.99	98
54	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$865.52	\$1,947.41	\$2,423.45	7F
55	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$881.09	\$1,982.45	\$2,467.05	7D
56	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$891.02	\$2,004.78	\$2,494.84	7B
57	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$913.65	\$2,055.72	\$2,558.22	7E
58	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$926.46	\$2,084.53	\$2,594.08	5L
59	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$930.42	\$2,093.43	\$2,605.15	7C
60	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$940.26	\$2,115.59	\$2,632.73	6N
61	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$941.16	\$2,117.61	\$2,635.25	7A
62	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$942.03	\$2,119.56	\$2,637.68	5J
63	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$951.96	\$2,141.90	\$2,665.46	5H
64	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$957.70	\$2,154.83	\$2,681.58	6P
65	Choices	\$200/\$400	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$968.89	\$2,180.01	\$2,712.90	6R
66	Choices	\$100/\$200	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$969.55	\$2,181.49	\$2,714.73	6M
67	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$974.59	\$2,192.83	\$2,728.85	5K
68	Choices	\$100/\$200	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$987.71	\$2,222.34	\$2,765.57	6L
69	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$991.37	\$2,230.56	\$2,775.82	51
70	Choices	\$100/\$200	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$999.43	\$2,248.73	\$2,798.43	6Q
71	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,001.20	\$2,252.71	\$2,803.36	3Т
72	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,002.10	\$2,254.73	\$2,805.88	5G
73	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,018.65	\$2,291.95	\$2,852.20	3U
74	Choices	\$200/\$400	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,029.83	\$2,317.12	\$2,883.53	38
75	Choices	\$100/\$200	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,030.49	\$2,318.59	\$2,885.36	3R
76	Choices	\$100/\$200	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,048.65	\$2,359.45	\$2,936.20	3Q
77	Choices	\$100/\$200	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,060.37	\$2,385.84	\$2,969.06	3P

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.



This set of rates includes a Multiproduct Discount of 1.25%

Medical Rate Summary Exclusively for Summerfield Schools
Rates Effective 01/01/2022 through 12/31/2022

	Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	
1	Essentials by MESSA	\$375/\$750	\$10/\$25/\$50	\$50/\$200	20%	EbM	\$585.47	\$1,317.31	\$1,639.32	EA
										,
2	ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$615.14	\$1,384.05	\$1,722.38	9Q
3	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$622.99	\$1,401.72	\$1,744.36	CI
4	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier	\$630.44	\$1,418.48	\$1,765.23	DO
5	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$636.08	\$1,431.18	\$1,781.03	CE
6	ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$642.09	\$1,444.69	\$1,797.84	7T
7	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$643.70	\$1,448.32	\$1,802.36	DK
8	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$659.86	\$1,484.67	\$1,847.58	9L
9	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$660.25	\$1,485.56	\$1,848.69	BW
10	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier	\$668.16	\$1,503.34	\$1,870.82	DC
11	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$673.74	\$1,515.91	\$1,886.47	9K
12	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$677.82	\$1,525.08	\$1,897.88	BS
13	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$681.10	\$1,532.48	\$1,907.09	CA
14	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$685.91	\$1,543.31	\$1,920.56	CY
15	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$689.27	\$1,550.84	\$1,929.93	DG
16	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Mail	\$689.99	\$1,552.48	\$1,931.98	AO
17	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$699.16	\$1,573.11	\$1,957.67	9D
18	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Mail	\$708.35	\$1,593.79	\$1,983.38	AK
19	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$717.65	\$1,614.73	\$2,009.44	9C
20	ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$721.42	\$1,623.20	\$2,019.98	7R
21	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$728.56	\$1,639.27	\$2,039.98	во
22	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$737.29	\$1,658.89	\$2,064.40	CU
23	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Mail	\$761.38	\$1,713.12	\$2,131.89	AG
24	ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$770.86	\$1,734.43	\$2,158.40	7P
										1
25	Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$682.02	\$1,534.54	\$1,909.65	8V
26	Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$694.23	\$1,562.02	\$1,943.84	8U
27	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$694.70	\$1,563.05	\$1,945.14	ВА
28	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$704.70	\$1,585.56	\$1,973.15	8R
29	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$708.17	\$1,593.38	\$1,982.88	ВМ
30	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$714.74	\$1,608.18	\$2,001.28	AY
31	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$721.27	\$1,622.85	\$2,019.55	8Q
32	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$728.23	\$1,638.53	\$2,039.05	вк
33	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	SRX Mail	\$731.23	\$1,645.26	\$2,047.44	AC
34	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$733.05	\$1,649.38	\$2,052.56	AU
35	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$742.18	\$1,669.92	\$2,078.12	8N
36	Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$743.93	\$1,673.85	\$2,083.01	8E
37	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$746.55	\$1,679.73	\$2,090.34	BG
38	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$751.28	\$1,690.37	\$2,103.57	AA
39	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$758.35	\$1,706.29	\$2,123.38	AS
40	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$762.25	\$1,715.06	\$2,134.29	8M
41	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	SRX Mail	\$769.58	\$1,731.58	\$2,154.86	9W

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.

888



74

75

76

77

Choices

Choices

Choices

Choices

\$200/\$400

\$100/\$200

\$100/\$200

\$100/\$200

\$5/\$5/\$5

\$5/\$5/\$5

\$20/\$20/\$20

\$10/\$10/\$10

This set of rates includes a Multiproduct Discount of 1.25%

Medical Rate Summary Exclusively for Summerfield Schools Rates Effective 01/01/2022 through 12/31/2022

	Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	ı
42	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$771.85	\$1,736.65	\$2,161.16	BE
43	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$774.92	\$1,743.57	\$2,169.79	AW
44	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$775.33	\$1,744.49	\$2,170.92	8D
45	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$780.56	\$1,756.27	\$2,185.58	8J
46	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$788.42	\$1,773.93	\$2,207.56	ВІ
47	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$794.88	\$1,788.48	\$2,225.67	9U
48	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$805.86	\$1,813.17	\$2,256.40	81
49	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$811.45	\$1,825.77	\$2,272.07	9Y
50	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$822.43	\$1,850.46	\$2,302.80	8C
51	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$824.64	\$1,855.44	\$2,308.98	AQ
52	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$838.13	\$1,885.79	\$2,346.75	вс
53	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$861.18	\$1,937.65	\$2,411.30	9S
54	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$872.15	\$1,962.32	\$2,442.00	7F
55	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$887.83	\$1,997.62	\$2,485.93	7D
56	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$897.84	\$2,020.13	\$2,513.94	7B
57	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$920.64	\$2,071.45	\$2,577.80	7E
58	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$933.55	\$2,100.48	\$2,613.94	5L
59	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$937.54	\$2,109.45	\$2,625.09	7C
60	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$947.46	\$2,131.78	\$2,652.88	6N
61	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$948.37	\$2,133.82	\$2,655.42	7A
62	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$949.24	\$2,135.78	\$2,657.86	5J
63	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$959.24	\$2,158.29	\$2,685.86	5H
64	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$965.03	\$2,171.32	\$2,702.10	6P
65	Choices	\$200/\$400	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$976.31	\$2,196.69	\$2,733.66	6R
66	Choices	\$100/\$200	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$976.97	\$2,198.18	\$2,735.51	6M
67	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$982.05	\$2,209.61	\$2,749.74	5K
68	Choices	\$100/\$200	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$995.27	\$2,239.34	\$2,786.74	6L
69	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$998.95	\$2,247.63	\$2,797.06	51
70	Choices	\$100/\$200	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$1,007.08	\$2,265.94	\$2,819.84	6Q
71	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,008.86	\$2,269.95	\$2,824.82	3T
72	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,009.77	\$2,271.98	\$2,827.35	5G
73	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,026.45	\$2,309.49	\$2,874.03	3U

0%

0%

0%

0%

\$10/\$20

\$10/\$20

\$10/\$20

\$10/\$20

\$1,037.71

\$1,038.38

\$1,056.67

\$1,068.49

\$2,334.86

\$2,336.34

\$2,377.51

\$2,404.10

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.

\$10/\$25

\$25/\$50

\$25/\$50

\$10/\$25

\$2,905.59 3s

\$2,958.67 3Q

\$2,991.78 3P

\$2,907.44



41 Choices

\$500/\$1000

\$20/\$20/\$20

This set of rates includes a Multiproduct Discount of 1%

Medical Rate Summary Exclusively for Summerfield Schools Rates Effective 01/01/2022 through 12/31/2022

Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family
Essentials by MESSA	\$375/\$750	\$10/\$25/\$50	\$50/\$200	20%	EbM	\$586.96	\$1,320.65	\$1,643.47
ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$616.69	\$1,387.56	\$1,726.74
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$624.57	\$1,405.27	\$1,748.78
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier	\$632.04	\$1,422.07	\$1,769.70
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$637.69	\$1,434.81	\$1,785.54
ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$643.72	\$1,448.35	\$1,802.40
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$645.33	\$1,451.99	\$1,806.92
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$661.53	\$1,488.42	\$1,852.26
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$661.92	\$1,489.32	\$1,853.37
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier	\$669.85	\$1,507.14	\$1,875.56
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$675.44	\$1,519.75	\$1,891.24
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$679.53	\$1,528.94	\$1,902.68
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$682.82	\$1,536.36	\$1,911.92
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$687.65	\$1,547.22	\$1,925.42
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$691.01	\$1,554.76	\$1,934.82
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Mail	\$691.74	\$1,556.41	\$1,936.87
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$700.93	\$1,577.10	\$1,962.62
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Mail	\$710.15	\$1,597.82	\$1,988.40
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$719.47	\$1,618.82	\$2,014.52
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$723.25	\$1,627.31	\$2,025.09
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$730.41	\$1,643.42	\$2,045.15
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$739.16	\$1,663.09	\$2,069.62
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Mail	\$763.31	\$1,717.45	\$2,137.29
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$772.81	\$1,738.82	\$2,163.87
Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$683.75	\$1,538.43	\$1,914.49
Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$695.98	\$1,565.98	\$1,948.76
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$696.46	\$1,567.01	\$1,950.06
Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$706.48	\$1,589.58	\$1,978.14
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$709.96	\$1,597.42	\$1,987.90
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$716.55	\$1,612.25	\$2,006.35
Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$723.10	\$1,626.96	\$2,024.67
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$730.07	\$1,642.68	\$2,044.21
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	SRX Mail	\$733.08	\$1,649.42	\$2,052.62
Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$734.91	\$1,653.56	\$2,057.75
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$744.06	\$1,674.15	\$2,083.38
Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$745.81	\$1,678.09	\$2,088.29
Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$748.44	\$1,683.98	\$2,095.63
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$753.18	\$1,694.64	\$2,108.89
Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$760.27	\$1,710.61	\$2,128.75
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$764.18	\$1,719.40	\$2,139.69
Chairea	ΦT000/Φ2000	Φοο/Φοο/Φοο	Φ25/Φ50	000/	ODY M-1	\$774.FC	\$4.705.07	\$2,100.00

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.

20%

SRX Mail

\$771.53

\$1,735.97

\$25/\$50

\$2,160.31 9W



This set of rates includes a Multiproduct Discount of 1%

Medical Rate Summary Exclusively for Summerfield Schools Rates Effective 01/01/2022 through 12/31/2022

	Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	
42	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$773.80	\$1,741.04	\$2,166.63	BE
43	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$776.89	\$1,747.98	\$2,175.28	AW
44	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$777.29	\$1,748.91	\$2,176.42	8D
45	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$782.54	\$1,760.72	\$2,191.11	8J
46	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$790.41	\$1,778.43	\$2,213.14	ВІ
47	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$796.90	\$1,793.01	\$2,231.30	9U
48	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$807.90	\$1,817.76	\$2,262.11	81
49	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$813.51	\$1,830.39	\$2,277.82	9Y
50	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$824.52	\$1,855.15	\$2,308.63	8C
51	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$826.73	\$1,860.13	\$2,314.83	AQ
52	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$840.25	\$1,890.56	\$2,352.69	вс
53	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$863.36	\$1,942.55	\$2,417.41	9S
54	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$874.35	\$1,967.28	\$2,448.18	7F
55	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$890.08	\$2,002.68	\$2,492.22	7D
56	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$900.11	\$2,025.24	\$2,520.30	7B
57	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$922.97	\$2,076.69	\$2,584.32	7E
58	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$935.92	\$2,105.80	\$2,620.56	5L
59	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$939.91	\$2,114.79	\$2,631.73	7C
60	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$949.86	\$2,137.18	\$2,659.60	6N
61	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$950.77	\$2,139.22	\$2,662.14	7A
62	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$951.64	\$2,141.19	\$2,664.59	5J
63	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$961.67	\$2,163.75	\$2,692.66	5H
64	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$967.47	\$2,176.82	\$2,708.94	6P
65	Choices	\$200/\$400	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$978.78	\$2,202.25	\$2,740.58	6R
66	Choices	\$100/\$200	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$979.45	\$2,203.75	\$2,742.43	6M
67	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$984.53	\$2,215.21	\$2,756.70	5K
68	Choices	\$100/\$200	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$997.79	\$2,245.01	\$2,793.79	6L
69	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,001.48	\$2,253.32	\$2,804.14	51
70	Choices	\$100/\$200	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$1,009.63	\$2,271.68	\$2,826.98	6Q
71	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,011.42	\$2,275.69	\$2,831.97	3Т
72	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,012.33	\$2,277.73	\$2,834.51	5G
73	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,029.04	\$2,315.33	\$2,881.30	3U
74	Choices	\$200/\$400	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,040.34	\$2,340.77	\$2,912.95	3S
75	Choices	\$100/\$200	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,041.01	\$2,342.25	\$2,914.80	3R
76	Choices	\$100/\$200	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,059.35	\$2,383.53	\$2,966.16	3Q
77	Choices	\$100/\$200	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,071.19	\$2,410.19	\$2,999.36	3P

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.



This set of rates does not include a Multiproduct Discount

Created Date: 8/23/2021

Medical Rate Summary Exclusively for Summerfield Schools Rates Effective 01/01/2022 through 12/31/2022

Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family
Essentials by MESSA	\$375/\$750	\$10/\$25/\$50	\$50/\$200	20%	EbM	\$592.88	\$1,333.98	\$1,660.07
ADC Dian 2	Ф <u>о</u> гоо/ф <u>тооо</u>	ΦΩ/ΦΩ/ΦΩ	ΦΩ/ΦΩ	200/	ADC D.	Фсоо оо	¢4 404 57	¢4 744 40
ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$622.92	\$1,401.57	\$1,744.19
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$630.88	\$1,419.46	\$1,766.44
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$638.43	\$1,436.44	\$1,787.57
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$644.14	\$1,449.30	\$1,803.58
ABC Plan 3	\$3500/\$7000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$650.22	\$1,462.98	\$1,820.60
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$651.85	\$1,466.65	\$1,825.17
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$668.21	\$1,503.46	\$1,870.97
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier Mail	\$668.60	\$1,504.37	\$1,872.10
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	3Tier	\$676.62	\$1,522.37	\$1,894.51
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$682.27	\$1,535.10	\$1,910.34
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier Mail	\$686.40	\$1,544.38	\$1,921.90
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$689.72	\$1,551.88	\$1,931.23
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	3Tier	\$694.59	\$1,562.85	\$1,944.87
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$697.99	\$1,570.47	\$1,954.36
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Mail	\$698.72	\$1,572.13	\$1,956.43
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	20%	ABC Rx	\$708.01	\$1,593.03	\$1,982.45
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Mail	\$717.32	\$1,613.96	\$2,008.48
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	10%	ABC Rx	\$726.74	\$1,635.17	\$2,034.87
ABC Plan 2	\$2000/\$4000	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$730.55	\$1,643.74	\$2,045.55
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier Mail	\$737.79	\$1,660.02	\$2,065.80
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	3Tier	\$746.62	\$1,679.89	\$2,090.53
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Mail	\$771.02	\$1,734.80	\$2,158.87
ABC Plan 1	\$1400/\$2800	\$0/\$0/\$0	\$0/\$0	0%	ABC Rx	\$780.62	\$1,756.38	\$2,185.73
Obside	#0000/#0000	ΦΩΩ /ΦΩΩ /ΦΩΩ	ΦΩΕ/ΦΕΩ	000/	0 D	#000 0F	#4 550.00	#4 000 00
Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$690.65	\$1,553.96	\$1,933.82
Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$703.01	\$1,581.79	\$1,968.44
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$703.49	\$1,582.84	\$1,969.76
Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$713.62	\$1,605.63	\$1,998.12
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$717.13	\$1,613.55	\$2,007.98
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$723.78	\$1,628.53	\$2,026.61
Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$730.40	\$1,643.39	\$2,045.12
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$737.45	\$1,659.27	\$2,064.86
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	SRX Mail	\$740.48	\$1,666.08	\$2,073.35
Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier Mail	\$742.33	\$1,670.26	\$2,078.54
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$751.58	\$1,691.06	\$2,104.43
Choices	\$3000/\$6000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$753.35	\$1,695.04	\$2,109.38
Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	3Tier	\$756.00	\$1,700.99	\$2,116.80
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$760.79	\$1,711.76	\$2,130.20
Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier Mail	\$767.95	\$1,727.89	\$2,150.26
Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$771.89	\$1,736.77	\$2,161.30
Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	SRX Mail	\$779.33	\$1,753.50	\$2,182.13

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.



This set of rates does not include a Multiproduct Discount

Medical Rate Summary Exclusively for Summerfield Schools

Rates Effective 01/01/2022 through 12/31/2022

	Medical Plan	IN Deductible	IN OL/OV/SV Copay	IN UC/ER Copay	IN Coins.	Rx Coverage	Single	2-Person	Family	
42	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	3Tier	\$781.62	\$1,758.63	\$2,188.52	BE
43	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$784.73	\$1,765.64	\$2,197.25	AW
44	Choices	\$2000/\$4000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$785.14	\$1,766.57	\$2,198.40	8D
45	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	20%	Saver Rx	\$790.44	\$1,778.50	\$2,213.24	8J
46	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$798.40	\$1,796.39	\$2,235.50	ВІ
47	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	SRX Mail	\$804.94	\$1,811.12	\$2,253.84	9U
48	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	10%	Saver Rx	\$816.06	\$1,836.13	\$2,284.96	81
49	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$821.73	\$1,848.88	\$2,300.83	9Y
50	Choices	\$1000/\$2000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$832.84	\$1,873.89	\$2,331.95	8C
51	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier Mail	\$835.08	\$1,878.92	\$2,338.21	AQ
52	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	3Tier	\$848.74	\$1,909.66	\$2,376.46	ВС
53	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	SRX Mail	\$872.08	\$1,962.18	\$2,441.83	9S
54	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$883.19	\$1,987.16	\$2,472.91	7F
55	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$899.07	\$2,022.90	\$2,517.39	7D
56	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$909.20	\$2,045.70	\$2,545.76	7B
57	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$932.30	\$2,097.67	\$2,610.43	7E
58	Choices	\$500/\$1000	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$945.37	\$2,127.07	\$2,647.03	5L
59	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$949.40	\$2,136.15	\$2,658.32	7C
60	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$959.45	\$2,158.77	\$2,686.46	6N
61	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$960.37	\$2,160.83	\$2,689.03	7A
62	Choices	\$500/\$1000	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$961.25	\$2,162.82	\$2,691.51	5J
63	Choices	\$500/\$1000	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$971.38	\$2,185.61	\$2,719.86	5H
64	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$977.24	\$2,198.81	\$2,736.30	6P
65	Choices	\$200/\$400	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$988.66	\$2,224.50	\$2,768.26	6R
66	Choices	\$100/\$200	\$20/\$20/\$20	\$25/\$50	0%	Saver Rx	\$989.34	\$2,226.01	\$2,770.13	6M
67	Choices	\$300/\$600	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$994.48	\$2,237.58	\$2,784.54	5K
68	Choices	\$100/\$200	\$10/\$10/\$10	\$25/\$50	0%	Saver Rx	\$1,007.86	\$2,267.69	\$2,822.01	6L
69	Choices	\$300/\$600	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,011.60	\$2,276.09	\$2,832.47	51
70	Choices	\$100/\$200	\$5/\$5/\$5	\$10/\$25	0%	Saver Rx	\$1,019.83	\$2,294.62	\$2,855.54	6Q
71	Choices	\$200/\$400	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,021.63	\$2,298.68	\$2,860.57	3T
72	Choices	\$300/\$600	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,022.55	\$2,300.74	\$2,863.14	5G
73	Choices	\$200/\$400	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,039.44	\$2,338.72	\$2,910.41	3U
74	Choices	\$200/\$400	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,050.85	\$2,364.41	\$2,942.37	3S
75	Choices	\$100/\$200	\$20/\$20/\$20	\$25/\$50	0%	\$10/\$20	\$1,051.52	\$2,365.91	\$2,944.25	3R
76	Choices	\$100/\$200	\$10/\$10/\$10	\$25/\$50	0%	\$10/\$20	\$1,070.05	\$2,407.60	\$2,996.13	3Q
77	Choices	\$100/\$200	\$5/\$5/\$5	\$10/\$25	0%	\$10/\$20	\$1,082.01	\$2,434.53	\$3,029.65	3P

MESSA medical plans include a \$5,000 Basic Term Life and AD&D plan at an additional cost of \$1.50, which is billed separately from the rate above. The above rates are based on the information provided. Material changes in the composition of the group such as number of enrollees, definable group, eligibility requirements or plans offered may affect the final rates. These rates do not include pricing for the EA1 Rider, which is included in monthly medical premium at \$0.10/\$0.24/\$0.28 for Single/2-Person/Family if applicable.